5 | PEEE WHHY)

HEZ2LFEL x I,

— -6 — 4
@ , @ 5
©) 2‘2 @ ° 3
5 7
5 — =10 ® — =0
9 E}
@ ’ 3 ’ 6
5 4
6 8
©@ — =8 — = 16



2 HEZzLEL I,

@42
El
@26
7
@69
B
@510
El
@—14'7

u

Os 7 IS

— = 20



5 5 PEEH WHBHY)

HEZ2LFEL x I,

— + 3 — =8

Vo5 2 3

® ’ 6 @ 10 5
8 9

® i 15 © / 14
3 8

@ ° 4 4 2
3 3
4 9

@ — =12 — = 21



2 HEZzLEL I,

D =4
5

® — =10
6

® — =15
2

2 :g
13

o 2
ol

Os 7 IS

—_— 22



5 g B W055Y)

FELZLEL I,
3 9.

@ 7—3 @ 1076
® ° 10 @ ° 4
3 3
® ’ 6 ® ° 25
7 4
16_4 12 0

3 5
9 10
— =24 — =15

—_
—_—
—_—



2 HEZzLEL I,

0 21y
7

& L:g
5

® — =10
6

® L+
14

® —
12

Os 7 IS

O

~

~ 20



5 g PHEH 095 Y)

HEZ2LFEL x I,

— 2 — <6

V3 2 3

® — 10 @ =+
9 5

® — 20 ® — 15
T. 7.

o s My
4 3
10 6

© — =15 ® — =12



2 HEZzLEL I,

D Z:g
5

& —=:3
8

® — 14
3

o s
13

® — o0
9

Os 7 IS

—~ 26



5 5 B (055Y)

HEZ2LFEL x I,

— =6 S
® 7 @ Z 9
©) - 8 @ ° 6
3 8
® 6‘20 © ° -9
7 7
@ ’ 14 - 16
5 3
16 9
~ 8 — = 24



2 HEZzLEL I,

D —=+5
6

9 = .y
T

5 — =3
8

@ —15 - 20
17

o 2.5
)

Os 7 IS



5 6 PHIEE (055Y)

HEZ2LFEL x I,

— =+ 8 — 6

V3 23

5 =3 @ — =10
7 6

& 14 ® — =10
5 9
T SRS
10 8
9 8

@ —+ 21 —+ 6



2 HEZzLEL I,

@3 9
3

©) C)'3
10

® 12'9
7

@8 4
3
18

@ — = 27

Os 7 IS

2 .,
?-
4L
?-
15 .
2
0,
7
0.,
9



